2.1 Average Rate of Change PRACTT CE

Glope of the Secant Line: )
Given a function f, the equation for the slope of the secant line is
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2.1 Average Rate of Change m
Calculus Name:

Find the average rate of change for each function on the given interval. On the grid
provided, sketch the function and draw the secant line.

1 f(x) =x*=2; [-1,3] 2. g(x) =4 —x% [182](«3 3. A(x) =Vx +5+1; [-1,4]
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\ Find the average rate of change for each function on the given interval. |

4. g(r)=2r*+r—1; [0,1]
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\ Find the average rate of change for each function on the given interval. Use appropriate units. |

7.s(t) =—t>—t+4; [1,5] |8. A(t) =25 [2,4]
t represents seconds t represents years
s represents feet A represents dollars
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9. n(m) = tanm + 4; [

n represents nose hairs

m represents months
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\ Find the equation of the secant li

ne on the given interval. Put the equation in slope-intercept form. |

10. v(t) =t3 —t; [-2,2]
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\ Using the interval [x, x + h], find the expression that represents the slope of the secant line.

13. f(x) =x*—x . 14. f(x) =+x
Lx+nY =1'(x ~
Slope & Secant= (X*'h)——(x)J— Slope & Secant = F{th)h&)/-
o Foxen £y - (e - IX) (e %)
; = Crm 12
_ Oy (o) - [
L - k) - (%)
B S e o (e V%)
W X
- 2nxtW-h = (IR %)
wo \
= W(2x+n-1) Stope & Secert= o o
—
= 2xth-|
15. f(x) =3 —2x2 16. f(x) :i
£ = Flxew - -foy )
Slspe ot Secant = - Siope & Secart = ?(wv\)hf(r)/

- [3-2ty™) -[3-077]

_ 23-92 (4 Phyt1d) =3 ¢ 02
- A

_ 2-2Z ¢y -2 ~Z+ 2
\A

- dhy -2W
12

- WV (-4x -o\4)
W

g NPl

Slope o Secant =

A X (%Y
X = (x+w)
X (x4

_ -\
- X (x4n)

1

SIDP& o'{: Secant = — -l

X (x4

2.1 Average Rate of Change

1. The cost of producing x units of a certain item is c(x) = 2,000 + 8.6x + 0.5x2.
rate of change of ¢ with respect to x when the level of production increases from x = 300 to x = 310

Q units?

(C) 214.2

What is the average
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